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Q. . . en digg

: Ea : . ven
The diagram Sif?wofhlhe following questions given below s based Of th;n%iloyce and Post
s three circles each representing Doctors, Experienced Hospital & P

Graduate.
it ¥ s { gd® =

A WE 1-2 : ey s W
: o1 & T sy v et ¥ 1 sl e
SN Wm@rﬁ@@yﬁﬁ%mtﬁ“ T
Y
. i
Experienced Hospital >

Employee

(maﬂ‘cﬁmammﬁarﬁ)
o (¥

Post Graduate
(SIEASEY)

Doctors
(Fafeea=)

: . but are
/1/ Which of the following represents such people who are Experienced Hospital Employees
not Doctors ?

(A) A Only (B) C Only
(©) A and C Only (D) F and C Only g
ﬁﬁﬁﬁaﬁ?mﬂﬁaﬁaﬁﬁﬁ!m%ﬁﬁsa}jﬁ#mmﬁ%
A) fad A B) fak C
(D) s F ot C

(o Rk ASTC
who are Doctors as well as Post Graduate ?

presents such people
B) BandF Only

ch of the following r¢€

/‘y Whi
(A) D Onlly (D) B Only
(). EOrY g-qe EaeEt W ¥ ?
ﬁﬁﬁ@raﬁfmaaﬁwa’rmﬁrﬁ»ﬂﬁm
By fuh B ST F
(A) $ D () fr% B
(©) E
d turn left and coOVers 20 m, then turns right and co 20

3 A man facing Weszdgzziclrg ;10&;' At what distance the man is from starting point ;’el‘s i
then turms right 8P (B) 20m
(C) 40 m ﬁmtﬁﬂﬁmw 20 4 7w ¥, f6T T v

10 i qsaT 20 TJoidl

@wﬁfﬁqﬁ'ﬂ“aﬁm zoﬁafﬂ% '“mﬁ“m%ﬁm@“% ?
t,ﬁmzﬁffﬂ"‘ﬁ?‘ﬁ B 207 vy
@ 307 o) 09 'ﬂl' GieeT

(C) 40 A
2 “Ci-r
’
i‘l;:e}lﬁ




www.HaryanaJobs.in

G is written as ‘TBFSMFMGP’. How is ‘AUDITIO
NS wri
ﬂen

@/ In a certain code - ‘REASONIN
in that code ?
(B) CRRVMMRD

(D) SFTUFMHHM

(A) JRVBRMMKS
feren ST ¥ 196 H2 91 A CAUDITIONS:

(C) JEVBRRMMK ,
e el gz T A 'REASONING™ @ ‘TB FSMFMGP
B) CRRVMMRD Ll same 4y

1 ¥ foran s ¢ ;
(A) JRVBRMMKS %°
(C) JEVBRRMMK, (D) SF;(TUFMHHM ,-')S_ .-}: LA
¥E
5~ Ifall the digits in the number 728195346 are arranged in descending order, within the nu*n;f)‘er
the position of how many digits will remain unchanged 7 en -
(A) None (B) One on
(C) Three _(D) Two e -
vﬁmvzswssm%aﬁraﬁaﬁmﬁﬁﬁmﬁ*ﬁm e * ?w%’rfrwm
e N | ' ca k2’
(A) @ ® = f‘?"{l“\“
(5,)*'&’1? ® E-pcﬁlﬂﬂaq
/6/ What should be in the place of Question mark (2) in the following letter series ?
AC, FH, KM, PR, (?)
(A) TV (B) - XV
(©) WU (D) U¥ + §5
ﬁqmﬁﬁu%(?mmﬂwm? A ),-S
AC, FH, KM, PR, ? :
(A) TV ®) XV N
(C) WU (D) uUw
@/ Statement : U v
p=N>D2 G<B=1 . e,
Conclusion :
1 P>G VR
an G<J. | 143 »8
(A) Only Conclusion I is true. (B) Only Conclusion I is true.
I or Il is true. (9) Both Conclusions I and I1 are true.

(C) Either Conclusion

@ -
P=N>DZG‘-’-B=J
@ P>G
(1) G<lJ
(B) firds Prepd 11 98 ¥ |

(A) frs fored | TET T |
(C) ar < Fropd 1@ %6 & | (D) Frepd 1 T 11 21 W ¥

y At 12:30 the hour hand of a clock faces North and the minute
minute hand will be in which direction ?
(B) West

hand faces South. At 2:45 the

(A) North - West+
© ig{uth 4 aE;fs;ﬁ it (D) East
12:30 @@ 0% TE1 @l H -wﬁaﬁwamﬁmah aftror @Y o ¥ 12
A 7 ; T« ¥ | 2:45 @ fire B W
(A) Far-TRE (B) wfEd
D @ e v

©) Ty~
|
3

212 B
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If on
€ star equ .
als to four cj i
ur circles and three circles equal to four diamonds. then what is the ratio

of i
star to diamond ?

(A) 1:3

R T i) 34 (©) 3:16 (D) 16:3

&) 1:3 LIS TS e —— N R b R
B) 3:4 (C) 3:16 (D) 16:3

If BEAT = 25 _ 55
Il you code BURST?

22 — 26 - 7 and RUST = 96— 8 — 7. then how wi

(A) 25 -2 _

(©) 2519‘_89‘78‘7 B) 25-9-6-8-7

O BEAT = 3  5y o D) 25-6-9-8-7

(A) 25— 27 ‘9“8—36—7@RUST=9_6_3_?,aamBURSTaaampzﬁﬁ?
22-9-8-7

C 2l B) 25-9-6-8-7

S et e @) 35-6-9~8~7

If the number i
er i indi
in the circle indicates the number of persons, then how many youth graduates are

there ?

R gu A & 7 wem i @ Ten i @@ E @ e ga T ¥ 7
G —

Graduates g

(
30 (wrae)
1Al
o
CIPEAN
Employed’ (Frarr)
(A) 20 (B) 30 (C) 40 (D) 50
The age of 2 mother today is thrice that of her daughter. After 12 years, the age of the mother
hat of her daughter, the present age of the daughter is -

will be twice t
(C) 16 years (D) 18 years

(A) ]2 years (B) I4 ycarS
@mﬁmaﬁﬂrﬂmﬁaﬂaﬂﬁ%tlzﬁﬁq@wﬁﬂlﬂmaﬁ%mﬁ-hu
O i

a) 127 B) 14 = () 167 (D) 18 =

¢ half into smaller pieces of equal size

cuts 2 cake into two halves and cuts 0N
she has seven pieces of the cake in all

ieces 1S twenty Brams in weight. If
the original cake ?

A birthday baby
Each of the small p

: was

v::th hlezr,ohor\:ml;eavy (B) 140 grams (C) 240 grams (D) 280 grams

( )aﬁ g w%ﬂaaﬁwﬁﬁmigqﬁwmmﬂﬁmwﬂsmgmﬁﬂm
3mmﬁammmwm* \afx i wre o & G 90 308 8, N I A e

-2 ?'
Eﬁ:;m ?;O.mﬂ @) 14 A (C) 240 u™ (D) 280 7™
o ‘8 [
e 0 J.")_o
’ 1o
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/ Pointipg towards a boy Shahrukh said ‘he is the
How is that boy related to Shahrukh ? son of the only son of
—
MY grandfathey

(B) Brother

(A) Cousin
(C) Un;:‘e aﬂ_a_ e' (D) Brother-in-law
@ wEh B e 2qmaT F §Y AEE T FE i

+ o @ G € = 1
(A) T By Wi ATAAA ~ 1

€) T (D) &S L~ ywsadiy

15 Find the odd word out.

(A) Hate (B) Love (C) Anger D) Cry

P o1 & T A | .

(A) TN ® T, ©) #H (D) T

Then again turns

s 5 kms north, then turns left and walks 3 kms.

1}/ A starts from 2 point and walk ‘ and v
¢ direction in which he is going now.

ks 5 kms. Point out th

left and wa

(A) North (B) South-

(C) East (D) West
ﬁrs%ﬂaam%,marﬁaﬂtgsm3ﬁﬁﬁ’raﬁm% 1

Aqu‘aﬁ@twmﬁiwﬁm
f&anﬁww%aﬁﬁﬁ!aﬂﬁiﬁ ?U\(\

fpr o T T G 5 Rt el
(A) T (B)-~ =t
© () T'E;i’ A ,{x;
@F:m::L:? “‘n‘
(A) 1723 B) 1728 (C) 1700 @) 1600 =Y ~|
)ﬂ/ Find the odd word out. F ‘ ‘
(B) Moon - Planets” O ﬂ

(A) Sky - Stars

(C) Stadium - Players
T g 9% BT T B
P———

(A) a1l — qr

() =fem - figemér

(D) University - Students

(B) TEa - WS
(D) ﬁ&a&}ﬂm_maﬁ'

1 I : v
19~ In the following series some of the letters are missing. Choose the correct option to |
complete

the series.
D__F_DEE_D_EF_DE_F
(A) EFFDED .
B) EFF :
(©) EFFDFE :D)] FE[I;?II;E

frer A A g ovT A ¥ | A
A B
D_F_DEE_D_EF_DE_F v fordy @y fore o T AT
(A) EFFDED - -
(C) EFFDFE LD; EI;FDDF
! CEFFDE

212_ﬁB EF’D_,. D E .
FE G

BT

ﬂ
<J \m
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Directiong

items do pey have Hindi Version.

R 6 () wemiek (4, 20 4 25) % forg Pk -

Sy

A no

}0/ A hostile situation resulting from opposing views.
(B)
(D)

(A) brain-storming

(&)

consensus

The person is awarded is a soldier

(A)  Whom, Whose

(B)
(C)  Who, Whose (D)
227 The word that describes ari action is ;
(A) an adjective (B)
(C) an exclamation (D)
}3/ Communication includes —
(&) Language clarity (B)

(C) Body language (D)

U A

(A) Noun ®)
(C) Adjective (D)

25 A group technique used to develop Many ideas j
(A) conﬂict’(ﬁ (B)
(C) compromise (D)

212 B .

for the following 6 (six) questions no. 20 to 25 : b Y
- ication , SKI
"8 6 questions are based on the Interpersonal & Communica

connects phrases, clauses or sentences.

¢ AF s

compromise ¢

conflict

father is a farmer.
Whose, Who
Whose, Whom

an interjection

an adverb

Facial expressiong

All of the abovye

Conjunction

Adverb

n a relatively short time,

consensus

brain~st0rming
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r the following 6 (six) questions no 36 to 3
" w4

pire¢
The following 6 questions arc based on the Int
jtems. do not have Hindi Version. :f_"f_ff_g_ﬂal & Cwn .l
et 6 (5 5 (@ 26 & 31) ¥ f FET [ 30 thessfose thasm
ﬁﬂmﬁalswr‘m eﬂtmaﬁmﬂ?wﬁwﬁﬂmhmﬁum
gt o w Py are =l P
Match the following parts of spcech -
(1) early (@ Verb
@) cute (b) Common Noun
3) People (C) Adjective
@) tailoring d) Adver
A) (1)), 2)-(d); (3)-@» (4)-(b)
®) (I d), (2-©): (3)-(b), (4)-2)
©) (1)-(b); 2)-(a); (3)-d: (4)-©)
D) (1)-@); (2)-(b), (3)-(¢) (4)-(d)
/ Fill in the correct modals and semi-modals from the choice
(1) They NEED join the duty on Friday.
(2) You keep yourself clean
(3) She come often
@ 1 peep in-
(a) used to (b) dare to (©) ought to d) need to
(A) (1)-(©); 2)-(d)s (3)-(a), 4)-b) y (D)-d); (2)-(c)s (3)-(b), (4)-(a)
©) ()@ (2)-®), 3)-©) 4)-(d) (D) (1)) 2)-(a), 3)-(d). #)-©)
7}’ The correct spelling for the term which means «gmell’ is
(A) Ofder (B) Odcr
(C) Faﬂdﬁf (D) Odour OLLA P)"‘
gder o
»  The plural form of the word ‘genius’ iS S’ Pxrdl
(A) ‘geniuses (B) e ¢) aed
. genii
(C) gem :
(D) geniusses
3/ The synonym of the word ‘nobility’ is Nd;“b
(A) dignity ——
(C) smart (B) obedience
(D) handsome
31 Choose the most 3 : .
i tog F;eP;ftJ;:an optlor; oz:d fill in tl'1e blank.
(A) contribute Gy and medicinc among the refugees
(C) sanction () dismb“‘cd\l-/"\ X
(D) separate IS
22 B QG
oyt ED |
| Next Page

PuArs 7~ C}l
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3
@ Match the terms with the meanings given.

(1) Misanthrope (a) Fear of strangers
(2)  Polyglot (b) Spending excess money

(3)  Xenophobia (c) Person hates all mankind

(4)  Squandermania (d) Person speaks many languages

Bt w1 forem Rl it ond 5 e i b

(1) P=wy (@ SR W

(2) diferare (b) freerast ®)

(3) S () wR qrEaE & g A S

(4) warwtE d e

(A (1)-e), (), B)-a), ((-4))-(1»)&;é ®) (@), @ OO ((:))((:J)

(©)  (1)-(b), (2)-(c), 3)(d), (4)-(a)

Match the following terms :

@) (1)), 2@ (3)-(©),

Study of atmospHeré climate

(1)  Palaeontology (a)
(2)  Ornithology (b) Study of insects
(3) Entomology (c) Study of the foss&
(4) Meteorology (d) Study of birds o0
(1) ezt (a) ATYAVES ST B AT
(2) et (b) @ B AT
(3) TR (o) "rarsdt 1 arerE
(4) e (d) uftml @1 sreme
(A)  (1)-(c), (2)-(d), (3)(b), (4)-(2) (B) ih-(d). (2)-(b), 3)-(c). (4)-(a)
©) (@), @-(b), B)Hc), @)(d) (D) c"Q}")-(b), @), B)(d), (4)-(a)
o)
}4/ Match the following : 0
(1)  Ophthalmologist (a) Who treats kidngy-giseases
(2) Neonatologist (b) One who treats discase of the
nervous system
(3) Nephrologist (c) One who treats critical infants
(4) Neurologist (d) One who treats vision problem
P @1 e BT — _ N
(1) i )y aE W Rt & UM e FR &xan &
Q) § (b)- a8 W - & P v
3) apmtie A Ae) 6 TR Rerfer gt R19goh @1 Prary
4 e ¥ | ™
@) g (d) TF o gfe wEH T B FRE @ §
A) (1)-(d), (2)-(c), (3)-(a), (9)-(b) (B)  (1)-(a), (2)-(d), (3)-(b), (4)-(c)
©) (I)-(b_)v (2)-(c), (3)-(a), (4)-(d) (D) (D-(c), (2)-(a), (3)-(b), (4)-(d)

212 B

.
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37 :Bis mother of T. T

s the sister i
he sister of Y. Y is married to L. L is the onl
e A nly son of K.

0. 35 to e
r sa tl daughter of P. A
K is 7:*mﬁﬁﬁ%lvaﬁaﬁ1'%:\%{m’m\§aﬁm il e
A K N N LY
b
}4 How is T related to L ? AN — ~ b
Cousin < ste B @Tﬁﬂ
(C) gister-in-1aw : N (D) Can't say A1)
o 5
T.L3 & L E
(B) & - 1
{8 ﬁ % (D) Hel el o dhdl K}//'j_,
(
/’ —
' ? ) A
}}f;‘j ‘;,,Emf:ated b (B) Mother - in - law KA
:C) Sister - in - 1aW (D) Grandmother R
B. L & foow @& et & 7
A) (B) dH
() = (D)
i dtoP ?
37/ IfKis the mother of X, therkgow is X related to I~
(A) Granddaughter N (B) Grar’ldson
(C) Daughter N (D) Can't say
2f K. X @1 Ak &, T X, P@a‘aaﬁwﬁm% ?
(A) (B) qargr/air
©) ) (D) SECAE S Fhl
onclusion numbered

Q.38to40: In each question below are given three
| and II. You have to take the given statements to
commonly known facts. Read all the conclusions
logically follows from the given statement, disregar
uﬁﬁﬂSS%M:mﬁ'ﬂimﬂﬁ?ﬁ%
i 3§ oy 219 T 0 FEA B T

i § 2 @ s il ™ U B aﬁm

}V Statements : o)
No beggar is poor.
Some rich are beggar.
All classes are poor. ™

Conclusions :
I All rich being poor is a possibility.

1
(A) Only conclusion | follows,
(C) Either conclusion | or 11 follows.

HY N
g o fags T T AN
g aed gE ¥R oy
aofr @ TiE ¥ N
frrapd 5 @%?
I yEd T -
1l «ﬁﬂ*ﬁmﬁsﬁﬁﬁmﬁl
(A) fat Frepd | oo &Td & |
() a @ Fred 1A 11 orgeer aeen ¥ |

212 8

staterments followed by two €

be-true even
4nd then deci
ding commonly known fact :
el & frepd AeT
Rrepel @ afed o7 T

Y § FET,

if they seem to be at variance with
de which of the given conclusions

g Il R ™ ¥ | ! AT ST
Tz fiftra A @ R T el

Hmmamaaﬁaﬁﬂmnﬂgq,m%|

All beggars being classes is a possibility.

(B) On!y conclusion I follows.
(D) Neither conclusion I nor 1l follows

(B) fod frserd 11 argamar
(D) w?ﬁﬁw&m@r“:g_{:%mﬁl
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fVStateme nts .

Some Kartik are Shyam.
Some Ajit are Sujit.

Al Sujit are Shyam,
Conclusiong .

1
||
(A)  Only

All Kartik being Sujit is a possibility.
Some Shyam are not Ajit is a possibility.

Y conclusion 1 follows, (B) Only conclusion Il follows.
(C)  Either conclusion [ or 11 follows, (D) Neither conclusion I nor II follows.
HYF
3 W, Ty ¥ l’ﬂ'ﬂ'\‘h
T® i, gh ¥ | @/
g, ¥y wm (D
ey '

I T F1ftw @ g @Y @) wwram b
11 IO AWM A T TR B g Y
(A) % fFrepd | srgeer s & (B) Tk Fremd 1l srgeer sean &
© =& Presd 12 11 s @ 20y (D) 7 Fred 1378 11 s s &

Statements :
No 90s are 80s.
Some 90s are 40s.
All 80s are 70s.
Conclusions :
| All 80 being 40 is a possibility.
11 Some 70s are not 90s.

(A) Conclusion I follows. (B)  Only conclusion 11 follows,
(C) Either conclusion 1 or II follows. (D) Neither conclusion [ nor follows
Hq1 -
¢ 1 90, 80 THE M
590, 40% |
adr 80, 70 ¥ |
frepd

| 80, 40 819 B W ¥

B
© a1 @ e 1 an 11 IE ) qmwl?ﬂllmmtl

10
g
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Find the minimum number of straight line required to make gi ;
/ " 3 R A e A e e e -

g (o BY B 12 ©) 15 D) 16
ngles in the given figure.
r

(A)
Find the number of tria

4 ﬁﬁmﬁﬁ,ﬁgﬁaﬁmﬁrﬁﬁm

| 6 ¢ 8 (D) 10

(A) 3 (B)
?/ Which of the following element should come in a place of (?) ?
qsqﬁ%(?)%mﬂﬁﬂﬁ‘@raﬁﬁmaﬁ ?
AB3 CE6 FI10 JN15 ?
(A) O0T20 ' (B) TO2I () OT21 ( (D) TS21
44~ Study the following and answer correctly. é o 7,
/ Statements © At C@E 2 4
Some Mangoes are Bananas. A A
Some Bananas are Apples. 4
Conclusions : M /+q
I Some Apples being Mangoes i5@ possibility. O - <
I No Apple is a Mango. A- P 45
(A) Only Conclusion I follows. (B) Only Conclusion II follows.
(C) Either Conclusion I or 11 follows. (D) Neither Conclusion I nor 11 follows.
P 7 oreArd WO o wér waT Rl |
FI o
-g,*sanq,aﬁ%r x® He- - ayikimn q,l,'?i
g8 &9, 99 z 1 d\)d) =
frepd &G

I Wlﬁfﬂ?fmzﬁﬂﬂﬁm%|

1 #é o 4T, o TE & |
(A) ity Fored 1 ool el & | (B) Rt Prepd 11 srgeror &< & |

B e 1 e g 1 (D) T Fmd L8 1 g e ¢

55/lf cloud is called white white is called rain, rain is called
5 2. t 5 green, ree . :
air is called blue and blue is called water, where will the birds fly ? green is called air,

(A) Air (B) Cloud
(©) Whi;;m (D) Blue
afy qed mm,mmﬁaﬂwm.waﬁmm
T e v o T e @ A o g, T B I WM, QR FE M,
(A) ®al (B) dmEd
(D) e

QT
i '!;A}‘-( G,w(\ :

O T r/)qw—w/}



at is the quare © -

@ If the sum of three consecutive numbers ! = 25 ined
A) 16 . be determ™”
- @ Can
(C) 36 ; fepat
(A) 16 ;g ST
© 36 o P

2/ Fill up the following.

PENCIL : GRAPHITE i ——— B et e
(A) Pen : Refill 0 gfel;eﬁ;c:
(C) Car: Steel @) .
fore @Y gfd @it |
Yo TEEE _— s

(A) ¥ : R (B e e
(C) @ : T @ W

/4,/ 2 71 9 \ 8

7 3 4 \ _ 0
126 168 216
A) 8 B 2
© 6 (D) 36
9/ HO:; mz;lny !l\?rlondays are there in"a particular month of a particulaf year, if the month ends Of

We nes ay !
@ 4 i s
©) 3 ‘ (D) Can not be specified
qﬁq@ammﬂﬁﬁmﬂ, ﬁ@@ﬁﬁé%@mqﬁ%ﬁﬁﬁ%wgﬂ 2
) 4 ® > '
© 3 (D) Pifde & & g gu.ﬁ:{fi/

A sum of Rs: 1750 is divided amongst A, B, C and D such that

A’s share : B’S share = B’s share : C’s share = C’s share : D’s share = 3
.. C’s share ? =
How much isCs s
ﬁ_wsoﬁA.B,CafﬂD%aawWﬁam%ﬁ
- ! Qe K
pgrom i BI T # W Car W= C % M D 3 ) B
® 7 B ouTT = = | -
cmmﬁmﬂ . ; )
(A) 480 (B) 384 'W s
©) 288 (D) 216 Z()‘L’ H*ﬁ
" it
H

ng-v\ i
212 B 12 Aytasy iy
v &L Next Page
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¢ and “P= 3024, find 7 and x.

If "CI =12
o "C, =126 airc "' P, =3024 &, d T x H A T .
@ 73 (B) 8 4

D) 9.4

€ 83

A man takes 50 minutes .
speed of 10 km/hr, he covers the same distance 1N _
A) 10 minutes B) 20 minutes
© 30 minutes (D) 40 minutes
ﬁﬁﬂﬁmﬁﬂﬁ{ﬁmﬂﬂi{ﬂaﬂmﬁﬁ@aﬁﬂaﬁmﬁﬂ?ﬁww% | afy =@ 10 fed/a
aﬁvﬁlﬁwt,ﬂaﬁqﬁaﬁﬁaﬁmﬁaﬂm ?
) 10 fiFE @) 20 frE
©) 30 firFe (D) 40 e
Which is the largest : 2, 43, 3s. ﬂg ?
2,45 %,%Eﬁ@raﬁqaﬁﬁw% ?
@ : ® B
o 5

©) B

he a 1
The average age of 14 students 1S 14 years. If the age of the teacher is added the av
average increase

by 1. What is the age of the teacher ?
(B) 30 years

(D) 29 years

(A) 32 years
(C) 28 years
14fa'€lTW?ﬁGﬁﬂﬂ
ﬂwﬁmw%?ﬂ'm%'ﬂﬁﬁwﬁmmawamﬂwm
(A) N el Bt 4
(C) 28 a9 @ 3w

(D) 29 a4

18 people can do a wo i
k o
be required ? rk in 45 days. To complete the work in 30 d
any people wo
uld

18 afw fdr @ @ :
45 for & qu & g ¥ 1 @ @ 30 R ¥ qu e
¥q fart Rl
&

(A) 27
© 30 (B) 21
(D) 45

212
: 13
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A boy i .1 be half of the age . &
i will b€ of |
his £ Present]y one-third of the age of his father. After 7 Years he

ather, Find the Present age of the son. g
(A) 12 years (B, - 1 gaars %
(C) 10 Years (D) 3 years (:
T
5 ::ﬁ T ST s e g 2 s frend & 17 35 g G O S T oy

R oMY T BN |

o Ja g (B) 15@d
©) 10 =¥ 5 s

Which option contains the fractions in ascending order ?

ﬁ?ﬂﬁmﬁ‘ﬁm’mﬁmﬂ%?

11 13 18 9 9 11 13 18
(A) -_')_';__3_ (B) WL SRR e T
12°17°23°13 13°12°17° 23
11 18 9 13 9 13 18 11
C FE e e T oWy o [t
© 23317 D) 31730

A person has some hens and some cows. The ratio of number of heads and number of legs is
18:43. Find the number of hens, if the number of heads is 72.

ww i % @ o ghfat ¢d 99 T ¥ R A wen oit 30 o wen @ e 18:43 % |
ufafaﬁa%#wn%,a’fgﬁiﬁfaﬁmma&m|
(B) 60

(D) 62

(A) 58
©) 56

filled in 6 hours but takes 4 hours longer to fj|] because of a leak in its
[1, then the leak will empty it in how much time 9

(B) 12 hr
(D) 15 hr

A tank is normally
pottom. If the tank is fu

hr
) 16 | "
aaqﬁafm;m%m%?rﬁﬁﬁﬁmﬂlf\%wwqﬁq;;@mmp

qmﬁﬁ:ﬁﬁwﬁﬂmwwmﬁmm?

u ~ B) 12 4
0

A 2 D) 15 gy

el
© ' "

212 B
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following graph to answer the given questions :
: wocti -61) :- Study the
Direction (60-6

production of a com

priar (60-61) - fa m

pany (in lakh units) over the given years.
mﬁ&waﬁ@ﬁmﬁfaﬁmm areggs Bl

ﬁiﬁ@%ﬂzﬁﬁ@ﬁﬁmmﬂ(mmﬁﬁ)

61

62

units in lakh / Eal @@ o
v

t y -

- ' v IRE B8 7
e ﬂaﬁaﬁﬂwﬁaﬁaﬂ
g (B) 1999
(D) 1997

" g )
is the approximate average production (in lakhs) for the given years
What is the

%) fpam & 7
- %&Waﬂww(ﬂr@

ﬁmwfrl:'ﬁ% (B) 185
. 19 (D) 20
(C)

i ise. 50 paise and | Rs. coins. There are 220 coins in all and the total amount
e fntf'";zs IP:O I’f' lh(:'c are thrice as many | Rs. coins as there are 25 paise coins, then
in the bag 1s Rs. ' - hric
what is the number of 50 paise coins ?

49 T faah WL ¥ e & o 220 foah & T o1 7HA & 160
s o o 4g, S0 TA TE | TUE @ LA .aﬁt} :
% uﬁfsqaa'ssﬂxﬁzsﬂﬂ%fhﬁ‘immwﬁ,ﬂwsoﬁﬁﬁimﬁ%ﬁﬁm%?

|

(B) 40
(A) 60

(D) 80
©) 120

15
212 8
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. running in the sam,
Two trains length of 130 m and 110 m run on parﬂ”el tracks. When

direction, faster train cross slower one in 20 sec. While running in '
*Peed they pass each other completely in 12 sec. Find speed of ERR

130 % oy VI el e e e l@ﬁﬁmﬁﬂ?ﬁfﬁéﬁwﬁraﬁhg
TAORY T 27 91 20 2w 3 e et 1o oy o @ oo o 3 AR 90 3 TGS
‘Ziﬁgﬁ‘ﬂﬁ:mmw% | W 3 @ T T i |

(A)g‘so m/s, 20 m/s

opposite direction at thej,

(B)YO16 mis, 4 m/s
(C) 20 m/s, 8 m/s

(D) 15 m/s, 27 m/s

N

A batsman has a definite average for 11 innings. That batsman score 120 runs in his 12th inning

duedo} which his average increased by 5 runs. Aceerdingly, what is the average of the batsman
after}2 innings ?

Qﬁ(;%'ﬂ'ra(batsman)ﬁ 11 gfme & Fiyedatea & Iwmﬁmﬁgﬁﬂﬁf 120 = &1 @R
e foraes HoT SHS! offed & 5 i #ngfe 8 lwm%lzﬁ“*“"‘?{maﬁm@m
7

o (B) 60
N

(C)<170 (D) 72
N
@)

A baman scored 125 runs which included 5 boundaries and ¢ sixes. W

hat .
he made by running b/w the wickets ? percent of the total

score did

. 16
"
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0. No. (66-70)

study the foll
i the conditi i i
ing are ions for selecting anvl_T Officer in an organization.

N
h. in IT or Computer Selence with at least 60% marks
&ears as on 01-11-2016. il

owing information carefully and answer the questions bel
ow :

Follow
The candidate must -
(i) bea B. E. / B. Tec

(i) be at least 20 years and not more than 2

(iii) have secured at least 60% marks in writtem test.
(iv) haves marks in interview.
the candidate who fulfi

but is a post graduate, hi

ecured at least 40%
In the case of lis all conditions except -
s case be referred to as GM.

(a) at (ii) above,
marks in interview and at least 70%

but has secured at least 35%
d to as VP.

(b) at(iv) above,
marks in the written test, his case to be referre
N

9 wemn (66 @ 70) x
mwﬁmnﬁ*uﬁﬁﬁnﬁﬁﬁﬁuﬁmﬁ%:
ﬁmﬁlTﬁﬁm%m%ﬁqﬁﬂﬂﬁiz %

v & -
0) ITma;qd'{mé-‘ﬁﬁB.E./B.Tech.ﬁm% 60% 3t B e |
(ii) 01-11-2016%;'aaa3mﬁm20‘daﬁ _'36 %aﬁﬂ?aﬂﬂ;|

(i) o when ¥ 5w @ W 60%/ 3% W Fe AL
(iv) TR § W Y W 0% I W e @ | g

38 vt ¥ ¥ § o fe wol od oRgel ¥ fEE - O
@) m(ii)m,mﬂw@m*%ﬁGM%ﬁvwmﬁwm|

(b) TR (iv) W, AR TamenTt 3 I A T BS %|0F W fafew ;
wra e ¥, o ¥ VP F @ W IR qgﬁm e K m ¥ | 70%)

66~ Kumar was born on 19th M
arch, 1995. He has secured 65° i
. ;. _ { . 1 % mark
62% marks in both written test and interview. Which of the f:;lloirfirfgmwiﬁEl‘;lT- e i
€ a course of action

if Kumar applies ?
(A) Kumar will be >
il %” selected. (B) Datafinadequate to takela decisio
ma
r will not be selected. (D)  Kumidr will be referred as GM N
as post.

wwawmma‘mszﬁrgmmm%laew% 2l

AP E 5% fF | e

ﬁﬁQ_AWWMIH&WWmi?ﬁ ' i'ﬁﬁ'lfhﬁu'ﬁgqﬁmw
faftr = & et 2

(A) UK & TGT & TE |
C ; g € |
(C) W &1 =g & & | (D) FAH GM & v 3
R & ford T fomam s |

212 B
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6)/ Venkat wag 1,

0, mark
: orn on 7th November 1989. He has secured '70:1 test and
In his M. Tech. He has secured 65% marks in both writte

in B. Tech. and 70% marks
sinbp-

interview.

i .5 A lies ?
Which of the following will be a course of action if Venkat app
(A)

(B)
©)
(D)

He wil be selected.,

Data inadequate tq take a decision.

He will not be selected.

He will be referred as Vp post.

. REICES .  70% o
m 1989 &y 3 1)1 39 B. Tech. & 70% oi% o fd wd M. Tech. § 70% i
9 ﬁ ————®,
& “EEE'“W@HWﬁﬁﬁ%mmﬁ?&%l

wfa%mawmqm%,mﬁqﬁmaw&;(courseofacﬁon)aﬁﬂﬁ@ﬁ ?
(A) SERT TET | e

(B) ﬁ“’rﬂﬁﬁ%g_mmhﬁl
© SHBT T97 & B |

(D) mwm%mmmma

®8 Lata has secured 78% marks in written test ang 38% marks in the interview, She secured 62%
in B. Tech-IT and was bom on 12t Jan, 199] Which of the following wily be a course of action
if Lata applies ?

(A)  She will be selected.
(B)  She will be offered VP post.
(C)  She will not be selected,
(D)  She will be offered GM post.
mﬁﬁﬁtamﬂs%mwﬁqﬂams%ﬂmmm‘mﬁmm ~
H 62% 5% ¥y Rt qd TEH I 12 sty 199 B g o el ¥ismp, Tech-IT
& o faf (course of action) 4 & #rfy ¢ %W%,Eﬁﬁﬁlﬁ
(A) SUBT 99T ) g |
(B) ¥ VP& tre oy e & s |
(C) SUD =T T gy |
(D) I8 GM B Gz oy aifr & o |
18
212 B
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f9/ Disha was born on 26th July 1991. She did her graduatior
science. Which condition/s below will lead to her selected ‘n ;-:;.-l POst-gradug
e GM 9

t' .
10N in computer

in graduation.

She secured 65% in M.E.

9o marks in written test

() Both () and (i) (B) (iii) Only

© 0 Only (D) Both (ii) and (iii)

26 s 199 Y g o zwﬁmmaﬁ@w&msﬁwmﬁmml
e B Y ST F s ?

(i) She secured 68%

(i)
(iit) She secured 63

and 74% marks in interview

ﬁfﬂﬁﬁa?ﬁ
() a@n)@zsﬂﬂtss%amsmﬁgqr
(i) aﬁM.E.fftSS%aTdiuﬁng
(iii) a@ﬁrﬁaaqﬂmﬁ&%aiﬁwmmﬁM%mmgqn
(A) (i) o (i) T @) fad (i)
(D) (n)em(m)aﬁ

ondition(s) below will lead to her

IT in the year 2012. Which ¢

79~ Meghna completed B. Tech. in
selected as the 1T officer ?

(i) She secured 65% e written test.

marks in th
(i) She was bom on 4th Nov. 1990

(iii) She secured 50% marks 411 interview.

(A) Both (i) and (iiD)
(B) Both (ii) and (i)

(C) Both (i) and (i1)
(D) Data provided are inadequate to tak

fra'ﬂT%mﬁ20121?flTﬁB.Tech.t{(TWI

23 % i smEt B ?
(i) :m%ﬁtﬂaawﬂmffﬁ%aiaawamﬂ/r
(ii) et T 4 F@ET 1990 ®I g o
Gii) @ wesTt & 50% (@ i g9 |

(A) (i) @t (iii) @

®) (i) o (i) T

(©) (i) &ire (i) @

(D) oy i wr Pofa @ g orata ¥
19
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1 Statemem v

Gokul is the onl f Suresh and Rani.
Co ; e only son of Su
Nclusiong - (1) Suresh and Rani have one son.

an g :
Choose the " ) Gokul has one sister.

2 i ; is valid

(A)  Only cor::l:ﬁtsig?q“fli?\?at}id (B) Only CO“CI“SI'OI;OI; ;So\:‘ali —
(©)  Either conclusion I or I1 s valid (D) Neither con¢ us
mh T O I o gt v der b

DT T v e b

UD Tew % v qew & -

|

(A) ﬂﬁsﬁaﬁlag%, (B) fut Prepd AW E )
© = Pt 1o 4y D) TdPmlA@ AT

7}/ Jyoti has invited her three friends to her house. While watching a live cricket match, they

decided to order Pizza. In between the overs, the phone number of a pizza shop flashes briefly
and thffy all ry to remember it and tried to recollect the numbers as listed below.

(l) All the four have agreed that the first three numbers are 421.

(") Two of them agree that the fourth number is 9.

(i) Two of them said that the fifth number is 6.

~ (iv) Three of them agree that the sixth and seventh numbers are 8 and 6.
ich of the number is most likely th

Fﬂ‘lﬁ%mﬁiﬁﬂﬁa‘faﬁmmw

(A) 4219668

(B) 4219696
(5 | a2lz6ss (D) 4218686
;a/ According to John Bransford and Barry Stein, the steps involved in decic; .
(P)  Exploring possible strategies cCision making are

(Q) Defining and representing the problem
(R) Identifying the problem
(S) Looking back and evaluatin

g the effects of one’s activities
(T) Acting on strategies

Q) maﬁqﬁmﬁaqﬂmﬁmf@
(R) ¥FE & TEAH &

S msr@mm%mwwﬁﬂm
(S) e

(T) FEET T
A ®). Q@) O (M B ®. Q) @), ), (5,

20
212_B




www.HaryanadJobs.in

Directions for the following 8 (eight) questions no. 74 to 81
1s are based on the following passage in Englis|
= Sh to test the ¢
¢ comprehension

uestior
stions do not have Hindi Versi
S10n,

ge and therefore these que

(ore) st (8 74 a 81) ¥ forg Frdar

sgsqmaﬁtﬁﬂiﬁﬁﬁif@ﬁqﬁiéiwwmﬁﬁ

m:ﬁqsmﬁﬂﬁm“ﬁﬁmwmm
d be getting n everybody clse’s way and nobody would get anywhere. Individual
er of the world getting I_i_tzgi‘ty-drunk in these

Everybody woul

W)’ There is 8 dang

Jays like the old lady with the basket, and it is just @S well to remind ourselves of what the rule of
th; road means. It means that in order that the liberties of all may be preserved, the liberties of
everybody must be curtailed. When the policeman, say, at piccadilly ggg_us, steps into the middle of
the road and puts out his hands, he is the symbol not of tyranny. but of liberty- You may not think so.
you, may being in 2 hurry, and seeing your car pulled up by his insolence of office, feel that your
liberty. has been outraged. “‘How dare this fellow interfere with your free use of the public hi ghway ?”
Then. if you are @ reasonable person, You will reflect that if he did not interfere with you he would
interfere with no onc. and the result would be that piccadilly citcus would be @ maelstrom that you
would never cross at all. You have submitted to @ curtailment of private liberty in order that you may

r which your liberty 2 reality.

The following 8 4
of English Langua

¥ ofre ofirell AT % @ & wham % for
S8 |

prfetad

enjoy a social orde

74 From option given below which word closely relates to the word “Lawlessness” ?
-—-—-——-'"4-_—. ’

(A) liberty
(B) anarchy
(C) reasonable

(D) preserved

75  Which statement describes the word “Reduced” ?
e

(A) The liberties for everybody must be curtailed.

(B) Liberties of all may be preserved.

(C) Individual liberty would have become social anarchy

(D) You ma

212 B 21
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low.
ce be
: senten
d word from given
. ine
% Find the closest synonyms of the underl

78

79

80

81

He

iS the SYmbol not of tyranny but of liberty.

(A) Monarchy
(B) Autocracy
©) Democracy
(D)

None of these

Find the noyp

: ce.
from the given options based on prenvitis Sen,-t::elstrOm thiat S0t svotil fieve
"o the regylt Would be that piccadilly circus would be a S
Cross at gy »
(A) Piccadilly
B)  circus
(C) maelstrom,

(D) an of aboye

Find the closeg

L antonym of the underlineq word from

given sentence,
The liberties of all may pe Preserved.
(A) Undecomposed

(B) Unpolluteq
(© Decomposed
(D) Maintaineq

€verybod else’s
(B)  Individua] liberty would haye beco:;lye soilal stabi] de body Would get anywhere
(®) Preserving liberties of everybody muygy be Curtajleq
(D)  None of the above
Find the verp from the given optiong based op Provideg SeNtence
feel that your liberty has beep, Outraged »
(A) feel
(B) liberty
(C) outraged
(D) been
Find the opposite of e word “Wiless” from the given Optig
(A) anarchy

(B) curtailed
(C) reaS()]'lab]e
(D) insolel‘lce

22
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Q. No. (82 - 84)
or a job in a company, a candidate must fulfill the following cri
‘riterin ¢

F
_ Age should be from 24 to 30 as on 15 Feb 2021.
- Must have secured atleast 58% in B. Sc. Maths.
i Must have done pustgraduate in Maths or Statistics with at least 65% marks
= Must have an experience of at least 2 ycars. ’
_ Must have secured 60% in written test and 50% in the interview.
qed q& 827 84)
fy ST A AHT Uob)%amsﬁﬁﬁqﬁfﬂamﬁqﬁﬁmmﬁ%
- 15mﬁ2021a:ﬂaauz4a30maml
~ B.Sc.nﬁmﬁmamss%aimarﬁaﬁmmaml
- m%més%siaa’f#mﬂnﬂamﬁﬁaﬁﬁﬂamz‘ma@l
2 Tfed |

&9 & ¥ 2 T & AT
Pt whem d 60% T FETHR

= 3 50% wrai® e aifeq |
ria, then which of thecfollowing criterion / criteria is not

82 Yogesh ﬁ]lﬁlls all the above crite

essential for selection ?
(i) He was born on Ist June 1992.
(i) He completed his graduation with 66% marks and secured 75% in class 12.
(iii) He has worked for 3 years in MNO company.
(iv) He secured 65% in post-graduation in maths.
(v) He got 60% in written test and 60% in the interview.

(A) (iii) Only

B) (i). (i), (iii) and (iv) Only

(©) (), (i), (iii), (iv) and (v) All

(D) Even with all given information, he will not be selected.

%gﬁ;ﬂ?aﬁ amqevel @1 g0 fEa &, @@ Prer wraEE/MTTEvEl § A HH &1 gy (selection) ¥
(i) Tqa T | 9 1992 & Fe Al |
(i1) ﬁ%:;?ﬁ % @1a @ @ uiy (graduation) quf @l Td 12 dF wan & 75% o
(iii) a3 m@ MNO doh # 3 @ra & fan &
(iv) Tfora # STIET® (post-graduation) § T&T 65% i aifsfa fmd |
v) Bﬁfﬂf@ﬂﬁmﬁw%ammwmﬁbﬂ%emm@ |

(a) fad (i) .4

@) fab (@), (i), (i) &t (iv)

) @ (i), @@ (i), (V) ot (v)

(D) ﬁﬂ?ﬂ‘ﬁ?@mﬁff%ﬁ%wmmqﬁm i

212 B 23
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teria is not essential

o ! : rion / Cri
83 Vijay fulfills all the above criteria, then which of the following crt€

for selection ?

(i)  He has worked in a company for 4 years.
(i) He got 70% in B. Sc. Maths and 68% M $c. Statistics:

(iii) He sccured 60% in written test and 54%.Ih intef view.

(iv) He was born on 3rd July 1994. N

(v) His score in class 12 was 85%. Qo
(A) (iii) only @y b only
(C) (v) only D) (i) and (iv) only
mmwmﬁwm%_mmmmﬁﬁmmw(selection)%g

rfrard & ¥ 7
() <E & G N 4 9 b A ¥
(i) & B. Sc. 7w ¥ 70% T M. Sc. FifeaRiH 68% o qIa foFd |
(iii) m%f@arrhm%o%qamw%@mmmn

(iv) ST 4 3 s 1994 & 57 | o
(v) 12 @er § Igar @i 85% A | ™
(A) R (iii) B) R (ii)
(C) & (v) (D) Tk (iii) 3T (iv)

84 . Aradhana fulfills all the above criteria, then which o{-{be following criterion I eritatis 3 '
much essential for selection: < is very

(i)  She scored 85% in class 12. N

(ii) Her age was 26 and got experience in a %pany for 3 years

(iii) She completed B. Sc. Maths with 59% apdyM. Sc. Maths witp, 66%
0.

(iv) Her score in interview was 54% and in written test jt was 68
0.

(A) (i), (ii) and (iii) Only (B) (i), (iii) and () O
) () (ii), (iii) and (iv) Only (D) (), (iii) and (iv) Onlyy
mwaqﬂﬁwwﬂaﬁqﬁ@mﬁ%.aﬁﬁﬂﬁamm |

N 8 W& (selection) ¥

qArAE &
(i) wad 124t e ¥ 85% whrT W A | ol

(III) g’.g‘ﬁ B. SC.'T&ET 59% aih & 91y qyr M.g.nﬁHGGG/ ‘
o 3§

(iv) e G T ¥ 54% d il Wl § 650, o | ® Wy @ fn |
oy b (@, @ AT D B R G, Gy ot (3
© et (i) (i) (iii) @rT (iv) (D) &b (), (iii) i (i)

24
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d the passage and choose the most appropriate option : (Q, N
. + No. 85 to 88)

of Education is a label applied to the study of the purpos
dered a branch of both, phi €, process, nature and 3
ered a branch of both, philosophy and education. E e and ideals
. . . . Ed ’
g of specific skill and the importing of knowledge ‘;'::lon can be
tutions of education we often Sizflem and
ak of.

Rea

philosophy

n. it can be consi

earnin

roader than the societal insti
ak and woolly field, 100 far remov

Y ed from the practical

back to Plato and the Ancient

little doubt that their work has

of educatio

defined as the teaching and
wisdom, and is something b
we
1. But philosophers dating
is

Many educationalists consideréﬁ%
f the real world to be us fu
he area much thgught and emphasis, and there
atiohover the milennia.

hinker; and education is an €
written around 360 B.C.)

heir mother’s care and

applicalion 0

Greeks have given L

d shape the practice of educ
ssential element in

helpe

st important educational t

Plato is the earlie
phy and political theory

removing children from t

“The Republic’ (his most important work on philoso
to the various castes. the

In it, he advocates some rather extreme methods :
raising them as wards of the state, and differentiating children suitable

highest receiving the most education,s9 that they could act as guardians of the city and care for the
less able. He believed that education;phould be holistic, including facts, skills, physica] discipline,
music and art. Plato believed the taléhf and intelligence is not distributed genetically and thus is be
found in children born to all classes%hough his proposed system of selective public education for
an educated minority of the populatigfi does not really follow a democratic model.

habit and reasén to be equally important forces to be cultivated
hould be to produce good and virtuous citizens. He proposed
hat repetition be used as a key tool to develop
listeners to bring out their own ideas.

Aristotle considered human nature,
in education, the ultimate aim of which s
that teachers lead their students systematically and t

good habits, unlike Socrates’ emphasis on questioning his
d the balancing of the fRebretical and practical aspects of subjects taught, among which
A whic

He emphasize
fHlo, mathematics, music, physical education, literature, history

the explicitly mentions reading, wri
and a wi i i
wide range of sciences, as wegfs play, which he also considered important

During the Medieval peri AL
period, thé&dea of perennialism was first
ormulated b :
y st, Thomas Aquinas

in his work istro’ iali
R De Magistro’. Perennialism holds that one should teach those thj d to be of
sting Importa | = ke
g importance to all people everywhere, namely principles and r iy ¢ just facts
easoning, no

(Which are apt
to .
e l:’ change over time), and that one should teach first aboyt o
. It was origi - ; not ma
originally religious in nature, and it was only much | people, : 5
ater that a t eory

hines or

secular

Perennialism dev
cloped
. (\J
f the
a5 oneé o

During the Renai =
1o grifivally IOOka:szzzz. l'he frepeh skeptic Michel de Montajgpe (153 3.1592) W
?O“VEnlional i s atllon. Unusually for this time, Montaignc Las willing 10 jestion the
and he implicit assump Pcnoc.i Mng into question the whole edi f the educ'ationﬂl system,
ption that univérSityeducated philosophers w;:n;:'::s;”y wiser tha jneducated

[
m workers, for example
22 8
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between the approaches of Socrates and
) 1d Aristo
tle 7

What 18 th
85 ‘ . d for repetiti
(A) Ansm!lc felt the need 101 repetition (o develop good habity |
students need to be constantly questioned. S0 students, Socrgq
A ates felt the
Aristotle felt that need for rote-learning: Socrates emphasized on di -
iy = 3 dinlogsg
There was no difference. g oggic learning,
hasized on the importance of paying attention to human nat
ure, Socrates
ales

[ Aristotle emP :

hasized upon science.
eq':*p] oyt & HE R & 7
o f&;mﬁiﬁfﬁaﬂﬁaﬂﬁﬁiﬁﬂﬁmﬁf%mgﬂmﬂ?aﬁmt ———
| ey T e | gH T

B) I 3 vz famn ﬁqﬁ ,
g9 B ferie
:g; ﬁmﬁmgﬁraﬁeﬁrmﬁaﬁmwmﬁm;gﬂﬁ%ﬁwqmﬁvm .
. ‘ ? 0
Why do educationists consider philosophy a ‘weak and woolly field
(A)i It is not practically applicable:
) Its theoretical concept are easily understood.
() It is irrelevant for education.
(D) None of the above: , ‘ .
fsmrsrreﬁ’rashsnﬁaﬁqﬁ FAAT G FHE o i A § 7
(A) T 3 @y E e | ‘
(B) dgifid oA ST & @I A amdr ¥ |
(C) % Pl 7% GTEITD T
(D) ¥4 @ T |
87 What do you understand by the term ‘perennialism’ in the context of the given Comprehension
passage ?
(A) It refers to some thing which is of éeaseless important.
hich is-quite unnecessary.

(B) It refers to some thing w

(C) It refers to some thing W eoretical,

(D) It refers to some thing which is existed in the past and no longer exists now.
b T Ay e & e § s (perennialism) ¥ o w1 W ¢ 7

(A) %mﬁ%ﬁﬁzﬁhm%ﬁﬁ%qﬁaﬁ% I

(B) “Wﬂ?ﬁ?ﬁ%’fﬁaﬁiﬂw%ﬁﬁﬁﬁmwsw% |

fg) %wﬁéﬁmwmwﬁswaﬁrma |

®) “‘W#ﬁwmﬁhmmﬁsqﬁww@mmﬁﬁg |

hich-is abstract and th

88  What w: _——

( A)a H:SL‘:E; el;!ali:) s beliefs about democratic education ?

() He beli l at only the rich have the right to acquire educati

(C) He be[!eveg in democratic education SR
ieved t : )

(D) He believed t::: :I':IJI’J uap'slelecl few are meant to attend schools.

Armaite 1S are

(A) EHE?THT & At ¥ @) a1 ug W"C:T ljlcnled,

(B) mwm&mwmﬁﬁ&m{ -
T Awdits R  or | T & B S

(€) v
Wmﬁqﬁmmﬁwﬂiwﬂqﬁ@g |

D) & wq o f
it
22 B O TR TE A ¥
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e ; omprehension
Directions for the following 4 (four) questions no. 89 to 92 : English to test the cOmP
The following 4 questions are based on the following passage lnHindi Version.
of English Language and therefore these questions do not have N,
4 () wwsist (5, 89 % 92) % fire BEen : e s T 3 AT % T
Pl 4 st o & e Sfeade ¢ o & of &
SRR ) 0 I . T8 fmn W wr ¥ .o in history. Together Wi e
arie Curie was one of the most accomplished sclentlStSf r treating cancer, and stucied
husband, Pierre, she discovered radium, an element widely used fo
uranium and

ion later helped
s i ollaboration
other radioactive substances. Pierre and Marie’s amicable ¢
to unlock the secrets of the atom.

- of physics,

Marie was born in 1867 in Warsaw, Poland, where her fathf:r. waIS_I a pr(;f;SZifllber:nge for
At an early age, she displayed a brilliant mind and a blithe personality. Her %)re came disgruntled,
leaming prompted her to continue with her studies after high school. She Detserited &
however, when she learned that the university in Warsaw was closed to women. e Sy
receive a higher education, she defiantly left Poland and in 1891 entered‘ the Sorbonne,
University, where she carned her Master’s degree and doctorate in physics.

Marie was fortunate to have studied at the Sorbonne with some of the greatest scientists of
her day, one of whom was

Pierre Curie. Marie and Pierre were married in 1895 and spent many
productive years working t

ogether in the physics laboratory. A short time after they discovered

radium, Pierre was killed by a horse-drawn wagon in 1906. Marie was stunned by this horrible
misfortune and she endured heart-

breaking anguish: Despondently, she recalled their close
relationship and the joy that they had

shared in scientific research. The fact that she had two young
daughters to raise by herself, greatly increased her distress,
Curie’s feeling of desolation finall

husband as a physics professor at the Sorbonne. She was the first Woman to be given g
at the world - famous university. In 1911 i

89 The Curies collaboration helped to unlock the secr
T e €15 of the 4
(A) friendly (B) ' competitiye s
(C) courteous

(D) industrioyg
90  Marie had a bright ming anq 4

Personality,

(A_) strong (B) Iight-hearted

(C) humorous (D)  strange
91  When she learned that she coylg oy attend the university i

(A) hopeless (B) annoyeq ArsaW, she felt

() depressed (D) W()rried .
[ p R — byh]i?: gl i traveni“g to France

(A) challenged authority (B) Showe it: oter the orb

(C) behave (D) Was distre;?lcllge“% Hns,

e
28
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are based on the followin
B passage in E
bﬂgiish to

herefore these questions do not have Hindj test th
ndi Version. © €omprehension

pirections for the followi
The following 4 questions
of English Language and tl
4 (aR) goieh (@ 93 ¥ 96) ¥ fo et :
qfede T o ¥ offT St W1 % der % oy
* B ¥

4 weAter ottt &
m:gammsﬁwﬁaﬁmaﬁrﬁmwm%l
The victory of the small Greek democracy of Athens over the mighty Persian
ous events in history. Darius, King of the Persian Erﬁ‘:pire in
lrev Was

other Greek - City - States in revolt against pPe
rsian

490 B.C.. is one of the most fam
to defeat Athens. He thought it would tai
[ =

Athens had interce
. the King sent
cify the rebellious P

ded for the
an enormous army
art of the empire.
hens, however, all citizens helped to rule. Ennobled by
o for their city-state- Perhaps this was the secret
, which freed them from Persian rule. On their way to
ity - states by claiming to have come in peace.
The frightened citizens of Delos refused 10 believe this. Not wa-nting to abet the conquest of
their city and did not return until the Persians had left. They were Wise,

Greece, they fled from

for the Persians next conquered the city of Eritrea and captured its people. :

Tiny Athens stood alone against Persia. The Athenian people went t0 their sanctuaries. There
ked their gods to exXpe The Athenians refurbished

deliverance. They as dite their victory.
d moved to the plain of Marathon, where their little band would meet the Persians.
from Plataea reinforced the Athenian troops.
ked, and Greek citizens fought bravely. The power of the mighty
that the Athenians had for their city. Athenians defeated the
d Persian ships and burned them,

Greek soldiers seize
4 famous historian, reports that 6,400 Persians died,

Persia was 'l
this participation, Athenians Were prep

of the remarkab
] some Greek ¢

they prayed for
their weapons an
At the last moment, soldiers

The Athenian army attac
Persians was offset by the love
Persians in both archery and hand combat.
and the Persians fled in terror. Herodotus,

compared to only 192 Athenians.

93  Athens had the other Greek City - States against the Persians.

(A) refused help to

(B) intervened on behalf of
(C) wanted to fight

(D) given orders for all to fight

94 i i
fﬁ;luswtzé drastic steps to the rebellious Athenians
¢ .
e (B) destroy
(D) irritate

95 i ici
Their participation to the Atheni
enians.

(A) gave comfort
(C) gave strength (B) gave honour
% The people of D (D) gave fear
6 eni elos did not want to
(C) think aboyt e 10 conquest of Greece.
(B) " encourage

(D) daydream about

?

212 3
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97 to 100)

. . t-past-the-

.uencies using firs ;
The 543 elected MPs will be elected from single-member constlt:frls from the Anglo-Indian

Post voting. The President of India nominates an additional two M€

Community, if he believes the community is under-represented.

.o . (Q. No.
Read the passage ang choose the most appropriate Option : Q

nt of the polling area

. - inary reside Sl
Eligible voters must be Indian citizens, 18 or older, an ordinary lection Commission

Sy .Cunsﬁme“c)’ and possess a valid voter identification card issued by s otin
of India. Some people convicted of electoral or other offences are barred from VOUNE.

Earlier, there were 5pec£ilations that the Present Government might advance the 2019 gene-ral
election to counter the anti-incumbency factor, lowever learning from its past blunder of preponing
election made by the Earlier Government, was decided to go into election as per the normal
schedule which was announced by Election Commission of India (ECI) on 10t March 2019, after
which Model Code of Conduct was applied with immediate effect.

ﬁw%ﬁﬁqﬁ%mﬁmnmﬁhﬁ:h&wﬂm%ilﬂﬂ)

Whﬁféﬂm—ﬁ—ﬁea’r&q (aﬁammm&aﬁﬁm)mmmﬁgq 543 wiwal &1 fratas
3 amﬁa‘m&aﬁﬁmmﬁm mﬁ,w%mﬁraﬁm%aﬁ@hﬁwwwﬁﬁﬁm
; amﬁmm@#m%mﬁﬁa%mmil -

B T | Wmﬂmmwzm”ﬁﬁ“ﬁmqﬁmmm%mmm
) R SR g
97

Which word or phrase means “dis
(A) First - Past - the

= post €hol L

(€) Antisincumpenc, Ei)) Blunder i the passage 2
M

Wﬁh"“”ﬁmmwmmgmﬂ OdelCOdeOC

(A) TR gy T gy

(C) wam frdd (o) o B) gy ﬂﬁqw,

B T ) T (wiey) VY2
ince wh the M
g (Sz:;ce 2:; nMV:jrs20 188 el Code of Conduct aPpligg

With T

(C) 10 March 2018 B) g a:::d‘ate Cffeqs

amadl Wmﬁwmﬁmﬁm&m{m I1th i 2019

(A) 2372018 Ty *h 2014

© 1072018 ®)

l
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oes the President of India nominate an additional two members from
- Angh
=iney,
s

Jess than 543 elected MPs

nity fails to send a representative

[ndian Community is under-represen 4
sente

he Anglo-
-Indian Community is over-represented

@ ¥ 7

ieves that t

. . - ?
100 What are the mandatory requirements t0 vote in India

(i) Must be an Indian citizen
(iiy Must be 18 or older

(iii) Must have 3 valid criminal record

(iv) Must be an ordinary resident of the polling area of the constituency

(v) Must posses a valid voter identification card issued by the Election Commission
of India.
Choose the correct options :
A @), G, (i) ®) (i), (), (v), (iv)
(C) (i), (iii), (i), Gv), (v) (D) (i), (iii), (iv), (v)
wrE | waed 5 & ol aftkeamors od wr ¥ 7 |
(i) wEa A )
(i) 18 31 3EE Ifye ww B
(iii) Fu geafus fgE &

wé faew g ﬁ’ﬁn
) &= i EE| t]'r(q-r
(8) (i), (i), (iii) i
: (C) (), (i), (i), (iv), (v) @) (), (i, (v
12 B (B) g
G0, Gig),
31 » (iv) (v)

lmf\‘



